
Item No. Scratching Post  Color  Height Color Code

4455 Gandia
gray 26.75 in.

(68 cm)
0

cream 1

Pos. No. Description Measurement in mm Quantity Item No. -0 Item No. -1

Pos. 1 Bottom plate 15.5 × 0.75 × 23.5 in.
(40 × 2 × 60 cm) 1 44550-10 44551-10

Pos. 2 Post with plush ø 3.5 × 4.5 in.
(ø 9 × 12 cm) 1 44550-31 44551-31

Pos. 3 Post ø 3.5 × 17.5 in.
(ø 9 × 45 cm) 1 4450-30 4455-30

Pos. 4 Sisalball with spacer bolt ø 3 in.
(ø 8 cm) 1 4450-32 4455-32

Pos. 5 Hammock ø 14.75 in.
(ø 38 cm) 1 44550-21 44551-21

Pos. 6 Backwall with rustling tunnel 15.5 × 26.75 × 23.5 cm
(40 × 68 × 60 cm) 1 44550-20 44551-20

Pos. a Countersunk screw M8 × 0.75 in.
(M8 × 25 mm) 1

44550-60 44551-60

Pos. b Rounded head screw M8 × 1 in.
(M8 × 30 mm) 1

Pos. c Rounded head screw M8 × 1.75 in.
(M8 × 50 mm) 1

Pos. d Thread rod M8 × 3 in.
(M8 × 80 mm) 1

Pos. e Washer ø 1 in.
(ø 30 mm) 2

Allen Key 1

Assembling Instruction & Parts List
#4455

270622 TRIXIE Heimtierbedarf · Industriestr. 32 · 24963 Tarp · GERMANY · www.trixie.de / TRIXIE UK Pet Products Ltd., Unit 7, Deer Park Road, Moulton Park, Northampton NN3 6RZ

E Advice: 

Please note the secure assembly and mounting required two individuals (adults). 
Please check the screws regularly and retighten them if necessary.

Pos. a

Pos. b

Pos. d

Pos. e

Pos. c

a

e
eb

3

6

5

4

2

1

d

c +
+


